1ES MURILLD Maths 4th ESO
EXAM 1_1 (Real numbers)

Name: Group:

1. Use your calculator to work out the following calculations. Express the results in
scientific notation. (When you obtain results of more than 3 decimal figures,
round them to three decimal places) (1 point)

a) (1.22-10°)+(3.305-10*)=

b) 37.6318-107%2 =

2. Calculate and simplify (write the steps you have taken to reach the solution):
(4.5 points)

b) (3v/20 + 280 — 4125 )+ 3v/500 =

c) 23/81-3/24 + 33108 - /256 =
d) Va2 Ya? =

e) (0—2\/5)2 —(0+2\/B)2:

75 7 48
f) 4\/;+2x/_—§\/ﬁ+\/;-
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3. Classify according to number type and mark on the real number line the

following. (Notice that some numbers may be of more than one type).

(1.5 points)
a) -+11
b) V9
c) -0.83

4. Use both interval and set notation to describe the interval shown on the graph:

(1.5 points)
a)
P
-3 = B 0
b)
- , 0 1 2 3 Q h
c)

5. Rationalize and simplify (write the steps you have taken to reach the solution):
(1.5 points)

Z 7
B2 52
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SOLUTION

1. Use your calculator to work out the following calculations. Express the results in
scientific notation. (When you obtain results of more than 3 decimal figures,
round them to three decimal places)

o (1.22-10°)+(3.305-10*)=3.691.10"

d) 37.6318-10" =0.005977579 ~ 5.978-103

2. Calculate and simplify (write the steps you have taken to reach the solution):

V2420 2% 422 5
V8 {20

4
) S

)30 + 280 - 4i25): 3500 = 325 +2V2* 5-4V5° _
322 .53

_6/5+8V5-20v5 _-6V5 _ 6 _ 1

3045 ~30/5 30 5

c) 23/81 —3/24 + 33108 — 256 = 23/3% —3/23 .3 + 3322 .33 _3/28 -
633 -2%3+934 - 434 = 433 +5Y4

d) /4{/02.%/0_2 =§/az~§/a_2=§/3/aé~az _ 28 —3a
e) (0—2\/5)2 —(a+2\/5)2 =q? —40\/B+(2\/B)2 —[az +4a\/B+(2\/E)2)=

= a? —4avb + 4b—a® —4avb - 4b = —8a'b

2 4
f) 41/775 +2\/_—§x/ﬁ+‘/% =41/%+2x/§—§\/3_3+1{232'3 =

:%mzf_%lfs%fa=(1o+z_%1+§j£:1§£
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3. Classify according to number type and mark on the real number line the
following. (Notice that some numbers may be of more than one type).
a) — 11, real, irrational

. VI

3 2 1 0 1

b) /9 =3 real, whole number, natural

c) ~0.83 = —% real, rational, recurring decimal

T e o 1

4. Use both interval and set notation to describe the interval shown on the graph:

a) Interval (-e0,~2); set {xe R/ x < -2}

~
-3 4 1 0

b) Interval [-1,4); set {xe R/-1<x< 4}

2 ’ 0 1 2 3

al)

c) Interval [-2,+); set {xe R/ x > -2}
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5. Rationalize and simplify:

V2 V2 _J10-2 Jio+2_ 4
V5442 B5-42 3 3 3

V2 V2B -v2) _Jel5-v2) vi0-2
5z Ws+v2lB-2) (s -(2f | 3

V2 2(B+v2)  _ J2[B+42) _10+2
B2 (52|52 (j5f (ﬁ 3






